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3
v spends  hour voluteering on Monday. She spends attal o 4 hovrs volustering from

Tuesday to Friday, and a total of 2 hours on Safurday and Sunday. Write the ratio of the time
rva spends volunteering on Monday to the time she spends volunteering the rest of the week
as a fraction in simplest form
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4 length of atunnelon & constroction lan s 3 feet long. The actal bunnel s to be 74 yards

long. What il be the ratio, in simplest form, of the length of the actual hunnel to the length on
the construction plan?
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Challenge The surface of a computer chip is a rectangle with length ER

3 1
g ioch and width — inch, Write the rato of the length of the |

rectangle to the perimeter of the rectangle s a fraction in simplest B
form, Write the ratio of the widh to the perimeter as a fraction in
simplest form

(Figuee s nat to scale)
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Challenge 4 square garden has side length 3 yards. & sqpare fower bed measnres 4., feet

on each side. What s the ratio of the side length of the garden to the side length of the fower
‘bed in simplest form? What is the ratio of the area of the garden to the area of the flower bed?
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3
4 recipe includes 6 cups of Sur and - cup of btermile Wi the rato of the amount of foue

to the amount of buttermill as a fraction in simplest form.
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Yo i 2 quarts of ice with 3 quats of ginger al to make frie punch. What s the ratio

of the amount of juice to the amount of ginger ale in simplest form?
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4 madel of a famons statwe is 2 nches tall The actalstame is 3.~ feet tall Whatis the ratio
of the height of the model to the height of the actual staie in simplest form?
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£
Write the ratio —;—— in simplest form,
o
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Distance Ratios Melkon travels - mil to the grocery store. Tamar travels 10 miles o the

grocery store. Waite the rafio of the distance Tamar travels to the distance Melkon travels as a
Fraction in simplest form. Write the ralio of the distance Melkon travels to the distance Tamar
travels as a fraction in simplest form




